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Chapter 22: Exercises 

 

The argument to fclose must be a file pointer obtained from a call of fopen. 

The program fragment calls fclose regardless of whether the call of fopen 

succeeded. The call of fclose should be moved inside the if statement: 

 

FILE *fp; 

 

if (fp = fopen(filename, "r")) { 

  /* read characters until end-of-file */ 

  fclose(fp); 

} 

 

 
 

(a) 00000083.736  
(b) 00000029749.  
(c) 001.0549e+09  
(d) 002.3522e-05 
 

 



(a) fseek(fp, n * 64L, SEEK_SET);  

(b) fseek(fp, -64L, SEEK_END);  

(c) fseek(fp, 64L, SEEK_CUR);  

(d) fseek(fp, -128L, SEEK_CUR); 

 

Chapter 22: Programming Projects 

 

 
 

#include <ctype.h> 

#include <stdio.h> 

#include <stdlib.h> 

 

int main(int argc, char *argv[]) 

{ 

  FILE *fp; 

  int ch; 

 

  if (argc != 2) { 

    fprintf(stderr, "usage: toupper file\n"); 

    exit(EXIT_FAILURE); 

  } 

 

  if ((fp = fopen(argv[1], "r")) == NULL) { 

    fprintf(stderr, "Can't open %s\n", argv[1]); 

    exit(EXIT_FAILURE); 

  } 

 

  while ((ch = getc(fp)) != EOF) 

    putchar(toupper(ch)); 

 

  fclose(fp); 

  return 0; 

} 

 

 

 
 

 

 

 



#include <stdio.h> 

#include <stdlib.h> 

 

int main(int argc, char *argv[]) 

{ 

  FILE *fp; 

  int ch, i; 

 

  if (argc < 2) { 

    fprintf(stderr, "usage: fcat filename [filename ...]\n"); 

    exit(EXIT_FAILURE); 

  } 

 

  for (i = 1; i < argc; i++) { 

    if ((fp = fopen(argv[i], "r")) == NULL) { 

      fprintf(stderr, "Can't open %s\n", argv[i]); 

      exit(EXIT_FAILURE); 

    } 

    while ((ch = getc(fp)) != EOF) 

      putchar(ch); 

    fclose(fp); 

  } 

 

  return 0; 

} 

 

 
 

#include <stdio.h> 

#include <stdlib.h> 

#include <string.h> 

 

#define NAME_LEN 25 

 

struct part { 

  int number; 

  char name[NAME_LEN + 1]; 

  int on_hand; 

}; 

 

int main(int argc, char *argv[]) 

{ 

  FILE *in_fp1, *in_fp2, *out_fp; 

  int num_read1, num_read2; 

  struct part part1, part2; 

 

  if (argc != 4) { 

    fprintf(stderr, "usage: merge infile1 infile2 outfile\n"); 

    exit(EXIT_FAILURE); 



  } 

 

  if ((in_fp1 = fopen(argv[1], "rb")) == NULL) { 

    fprintf(stderr, "Can't open %s\n", argv[1]); 

    exit(EXIT_FAILURE); 

  } 

 

  if ((in_fp2 = fopen(argv[2], "rb")) == NULL) { 

    fprintf(stderr, "Can't open %s\n", argv[2]); 

    exit(EXIT_FAILURE); 

  } 

 

  if ((out_fp = fopen(argv[3], "wb")) == NULL) { 

    fprintf(stderr, "Can't open %s\n", argv[3]); 

    exit(EXIT_FAILURE); 

  } 

 

  num_read1 = fread(&part1, sizeof(struct part), 1, in_fp1); 

  num_read2 = fread(&part2, sizeof(struct part), 1, in_fp2); 

  while (num_read1 == 1 && num_read2 == 1) 

    /* successfully read records from both files */ 

    if (part1.number < part2.number) { 

      fwrite(&part1, sizeof(struct part), 1, out_fp); 

      num_read1 = fread(&part1, sizeof(struct part), 1, in_fp1); 

    } else if (part1.number > part2.number) { 

      fwrite(&part2, sizeof(struct part), 1, out_fp); 

      num_read2 = fread(&part2, sizeof(struct part), 1, in_fp2); 

    } else { 

      /* part numbers are equal */ 

      if (strcmp(part1.name, part2.name) != 0) 

        fprintf(stderr, 

                "Names don't match for part %d; using the name %s\n", 

                part1.number, part1.name); 

      part1.on_hand += part2.on_hand; 

      fwrite(&part1, sizeof(struct part), 1, out_fp); 

      num_read1 = fread(&part1, sizeof(struct part), 1, in_fp1); 

      num_read2 = fread(&part2, sizeof(struct part), 1, in_fp2); 

    } 

 

  /* copy rest of file1 to output file */ 

  while (num_read1 == 1) { 

    fwrite(&part1, sizeof(struct part), 1, out_fp); 

    num_read1 = fread(&part1, sizeof(struct part), 1, in_fp1); 

  } 

 

  /* copy rest of file2 to output file */ 

  while (num_read2 == 1) { 

    fwrite(&part2, sizeof(struct part), 1, out_fp); 

    num_read2 = fread(&part2, sizeof(struct part), 1, in_fp2); 

  } 

 

  fclose(in_fp1); 

  fclose(in_fp2); 

  fclose(out_fp); 

  return 0; 

} 


